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What Is leptogenesis?

* Leptogenesis is a model that can explain baryon asymmetry
of the current universe through the seesaw model

What is different about using the PQ
inflation model?

* Non zero Initial number density of RHN!



Leptogenesis
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Initial number density of RHN

Nl (te < t < tRH) =~ O, Thermal leptogenesis scenario
t.. end of inflation

Nl (te < t< tRH) == O, Non-Thermal leptogenesis scenario
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Initial number density of RHN
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Gravitational Production of RHN
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Peccei-Quinn inflation U(1)pyp 2=,
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Interaction

Sub-dominant about Reheating dominant about Reheating
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